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6| UliA £ [ 1183 ] M—=30(30—0mm) m3 4,600 [FHEE H A X B HARRT.1.1

AN EE) [ 11 HERLRT] 20ecmN 4k m3 5,200 [RESE Ll X RIHATRT. 1. 1

8 ﬁé?i@wvv\ i B E) ES5EAR) t 13,900 |FF S IR M X B HAfIER7.1.1

| FHAET AT 7LV EM [ 11 RT ] AR (13) t 14,200 |FEFS R X B HHR7.1.1

10 & I HERE R REC L —F 7 A 240 X 240 1.=2,000 T-25 N 69,200 |FEE I X I HARRT. 1.1

L1 & B AR L —F 7 FD) 300X 300 1.=2,000 T—25 N 78,900 |BEHE IE X B BARR7. 1.1

12 & A AR L —F 7 A 500 X 500 1.=2,000 T-25 N 140,000 [FFS I XX B BA{HR7. 1.1

13| V2V kAt [ 7em] i THRE1,000m20L F (0%E[HE) (Fkf T.35) m2 7,290 | T AHE THAHP110 A= ANEHRP128
14|/ 2 VAT T[10cm] i THRE1,000m20L F (0%E(HE) (Fkf T.35) m2 8,660 | T-AHE THLHP110 T A= ANFH#HP128
15 AR FEAA AT T [5em]) Jiti T J3AR1,000m2 00 o (0%EHE) (A4 T 4k) m2 6,030 [+ Ak L EARP110 AR AMEG#HRP128
16|%& kAt Tl 1cm] Jiti THELL,000m200 E (0%E(HE)  (BEA T40) m2 1,140 | F KM THARP110 - AK= ANMEHRP128
17 [Ff-Hcfn Je THIE1,000m20L F (0%E[E) (s T.40) m2 245 |+ AHE T HARP110 T A= AME#P129
18 [AE~ > b TOIEEHES) —F i LRUR,000m20L o (0%EIHE) (b T4L) m2 2,690 |+ AhE T HARPL10 + A= ZAMEEP130
19[#itE =~ b TOEEHS A Ji T AIAR1,000m20L E (0%EIHE) (B T.30) m2 2,250 | AN THAGP110 AR AMEGERP130
20| S — b L (FEHE ) Jii LA 1,000m20L . (0%EHE) (b L4k) m2 970 |+ A T HLHHP110 + A= AN ERP130
21| 7 AE LI -4 kHE) i AR L OOOmZU\J: (0%E|H) m2 2,220 | AN THAGP120 + A AMEG#RP141
22| FEM R L0 ALT (KRB EE) 72m3 6,000 |BER UG A HAIR7.1.1 P231

23| FEM th ALy B AT (BRARM ) 72m3 7,000 |BEE LS A HUMRT. 1.1 P231

24| BEbt OR<9Y) B Hl 77y 7 100 ERREEEE20km A 30km LA | Z2m3 1,700 [BEFE RS BLR7.1.1 P232
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